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3233 X qo[ozwoz0Y RER 190.3Y|mEdT &= 190.3¥
%3 Y jo0[oRB0R03 RE&R ¥y §o|amariT & ¥Y¥.§0
J’RY ¥ qo|oroR0Y 99 99 3%.3¢|mEmT &= 193%.30
3334 ¥ qo|oroR0Y UL R §.% |ATERIT & R&.%%
R%RE& Y qo|oR0303 ¥y Y36, Y |AERT = ¥3&.¥%
3330 ¥ qo|oroROY UT R9K.9 & [FmEE &= R94.9%
EREES ¥ q0|0380303 39 RER.RE | AT EA R6R.3%
333% ¥ qo|oroR0Y ™R ¥qR.&R |mardiT &= ¥93.8%
3’30 ¥ qo[o30R03 LTS QLT8R |ATET &= 145.%%
3239 ¥ q0|0R80303 122 £5C.q Y| & £5C.9Y
333% Y q0|0380303 o Q&Y R.00|HATERT & 1&%3.00
3233 ¥ qo[o3w0R0Y Q0 9359.0¢ |smEwT &= 1329.0%
RR3Y % qo|o30303 & 19¥%0.90(HM &= 19 ¥%.0.90
3234 e q0[0380303 & 390§ 0G|, e, A, R &= 380¢.0¢
338 Y q0|0380303 4L Y09 &.¥3[FW & Y09 &.¥R
3330 Y q0|0R80303 3 3950, Y| AEEE & 3%C0.RY
R%3¢% ¥ qo|o03goR0Y 182 1933.2% |@™T &F 1933.2%
3%3% Y q0|0R80303 BEL 33C.63|wmaT & 335.63
3R¥0 ¥ jo|oroROY 158 QY E. MO |AERT &= QY E.KO
32¥9 Y q0|0R80303 3% Y0, YR |AmEriT & ¥¥0.%3
32¥R ¥ Q00390303 30 Q30,03 | &7 1336.03
R3Y¥3 ¥ q0|0R80303 1% FEEER G EE SR 3R3.¥T
R2YY Y q0|0R80303 99 0. R3(FHM &= 820133
%Y ¥ j0[0RB0R03 1’5 YYT. ¥R |ATari & Y YT, ¥Q
R2¥% Y q0|0R8030% & QIIRR.85(FW &A 1933%.85




3RY¥ el 10|0380303 13Y AR EEI Rl MAE1
YT £ q0[0350303 o9 QER Y.L 3| smEmT &= QELY.Y3
3R¥% £l qo|oR0303 Cre Y3, 3R AR &= 15¥3.3%
3340 Y q0|0R80303 933 YRY.WC|AEEE &= ¥R¥.MT
3249 Y j0[0RB0R03 ¥qY¥ Qg .39 |mEriT &= LE.R9
34R Y q0|0R80303 S Q09 &.00|ATEHT &F 109 &.00
3’43 ¥ j0[0RB0R03 %9 Y933 |AmERT &= Y?9.3%
24y ¥ q0[0390303 3 Q3I¥R. ¥R |mEmT &= 13¥R.¥%
RR4Y Y qo|oroR0Y 5% ©&T.qq [AERTT &= &5.99
R’4E Y qo0[oRBOR03 q5Y RCR.R Y| AERT A RER.RY
B Y q0[0380303 ©&g C3Y.0% |ATA™T HA c3Y.0%
3’45 Y q0[03w0R03 963 YW & &Y [FESEE SR A ERTERAY
3’4% Y qo|oroR0Y Yoy &L, R & | AR & £LL.R
3R &0 e q0[0380303 3% LI |FO & 3E3U.¥R
RR&9 Y qo|oR0303 CFE &L, R & | AR & £LL.R
RRER ¥ q0|0380303 2% 500G, 9 |ATardT & 5og.8g
R%E3 ¥ qo|oR0R0Y ¥03 YOOU .3 [mamd &= ¥00Y 3R
&Y Y q0|0R80303 Y% 390y, R | ATERE & 390Y.3%
RRER Y qo[ojw0303 3c QORC. &R |AERT = 10Rz.&R
EE3 A Y q0[0380303 &Y 30%.5.9G|AMERT & 30%%.9¢5
JREL Y j0[0RB0R03 136 ¥, |smERT &= 3¥59.99
%85 Y q0[0380303 1Rz 9% &.0% [F & 192 &.0%
Q&R Y jo|oroROY 339 33,53 |AEEE A 335.63
%80 ¥ qo|o3Bvo0Y q00 qo3R.30|HME™ET &= q03%.30
329 ¥ q0|0R80303 q00 3IRY.9 3| AEEE A 393




EEACE: ¥ qo|oRoR0Y ¥03 33C.6 3| AEET & 335.63
ERACE! Y q0|0R80303 3% Q& ¥Y.q 3| B QE¥Y.93
Y 3 qo[oRBOR0R o  993R.09 |7, @rem, A<, FHAR &= [ R993R.09
3364 Y q0|0R80303 R0 QOR&.RY [F & 0% &.3%
EAYCLA Y j0[0RB0R03 9 cogY & Y|4, @rar, ard, A & COTY. &Y
LI el q0|0380303 © MACEEIE e cie el ¥TY. 3
]G ¥ jo|orBoOROY EXe 335,50 |AEET & 33c.50
336% Y q0|0R80303 &0 QERY.CT|HTEET & Q&% Y.55
3R%0 ¥ qo|0390R0Y L& QTE. ¥R [FH & 8. ¥R
3229 ¥ qoloroR0Y ENES 3C%.R9 |ATESE STANHT &3 35239
JRER Y jo|orBoROY 39 393, Y |ESNE STARTHRT &7 303.¥Y
3R%3 Y qo[oj80R03 ¢ §3%R.6R [P &= §3%3.6%
R’5Y ¥ jo|oRBoROY 330 33C.53|AERT a1 335.83
335y, Y q0|0R80303 139 QY. % M &= 29%.%%
RRT& Y qo|oRBoR03 3q0 QCER. Y& | AmERT &= 1EEY. Y&
335 ¥ q0|0R80303 & & Q3049 3|smEE &= 1364%.93
R’ET Y qo[oj0R03 &Y 3.3 |AmErRiT &= ©3.73
3%5% ¥ qo|oroR0Y 3 33C.8 3| e & 335.63
3220 £ q0|0380%03 303 E3UY.Y PO aA E3UY.¥9
3249 ¥ q0|0R80303 30% Y ¥3.9R [T &= 4¥3.9R
A Y j0[0RB0R03 Y33 909 @.3% |mERT &= 9099.3%
3383 Y q0|0R80303 Y89 Y YRGS | ATaRT & Y ¥R.55
R3%Y Y q0|0R80303 R & RQY.cu|AmET &= R9¥.56
%34 Y j0[0RB0R03 309 3UE. Y Y [AEsEE TR &7 %5, ¥Y
3% & ¥ q0|0R80303 9% 990.5 3 |ATEET 77 190.83




A ¥ jo|oRBoROY 193 &Y Y.CE | amard = & ¥Y.CE
3%%% 'y q0[{03w0R03 4EY Q3IRYU.RE [AESFE ST A 13%4.3§
3%%% Y q0|0380303 300 QYR &.QO|AmariT &= 4R &.%0
3000 ¥ q0[0350303 &% Y O%.0R|ATE™T &F Y 0%.0%
3009 ¥ j0[0RB0R03 &% Y 3T, Y0 |AqERT = Y3c5.40
3003 e q0[0380303 §8Y € 93,9 |SmariT & §93.6%
3003 Y qo|or0303 &&Y &Y. YR | AR & &Y. ¥R
300Y Y q0[0390303 ¥00 RCR.39 |smERiT &= 35,39
300y Y j0[0RB0R03 %% £OY.oR [marE & §0Y.T%
300% Y q0|0R80303 399 30% 0% [AEE &= 30%.0%
3000 Y q0|0380303 Y& & €3.9 |¥maT & &R3.90
3007 3 q0[030R0% [ LeysuE.¥R|AT &= L] LT YR
300% Y q0|0380303 e qOY¥\e,08 |HATaRT & q0Y¥18.08
3090 ¥ qoloRoROY 3% BT, Y& |ATERT & R T.¥&
3099 ¥ j0[0RB0R03 3% Y. .0 |AmariT & ]Y.0%
309 £l qo0|0R0303 319 COY. Y& | ATarE & Y. Y&
3093 e q0[0350303 e oY q & |7, @, e, R &= Cll-t A
309y Y q0|0R80303 Y ¥R3R.YO|AmEwT &x ¥R33.40
309Y Y qo|or0R03 ACL RYR.YE @RI &= RYUR.YE
309% Y j0[0RB0R03 363 ¥¥q.3% @R = ¥¥9q.R%
3090 Y j0[0RB0R03 Y R 9.4 0|mEdT &= 29.%0
309% Y q0|0R80303 Q&% ERIURYFO &= ER3IU.RY
309% ¥ q0|0R80303 1?0 QRO&.q &A@ & 1R08&.95
3030 Y q0|0R80303 oYY YqR.3% |smardiT & 192.3%
3039 Y j0[0RB0R03 Y 3040, 3R |AERT &= 3040.3%




30%% ¥ qo|oRoR0Y 33 3%R9.50(FM &= 3%%9.80
3033 ¥ qoloroR0Y 190 RE9.&R|ATEET &R RT9.4%
30Y ¥ qo|oRoR0Y 3R} 909¥R.Y|FM & 109 ¥%.R¥
303y X j0|0RB0R03 RRE 5.5 | ATERT & 9z.55
30%¢ Y q0|03E0R03 369 q0q.c|AETET &= 999.55
3030 ¥ qo|oroROY UYL Q930,90 |FM & q930.50
30%% Y qo|oroR0Y RE Y 3.9 3| e &= WY 3.93
303% Y q0[0380303 oy REY.GO0|AEAHT &F REY¥.60
3030 Y q10[0380303 ] 3033 |AE™T & 3%0.3%
3039 Y q0|0R80303 RT Q0 0.3 ATE™T & 10%0.]
3033 Y q0[0380303 ¥09 YUY O3 | AmEriT 3TY Y. 63
3033 ¥ q0[0350303 1 3IYY.CE | ATAEE &R IYL.TE
303Y ¥ qo|oR0303 ¥ 3R 39, Y |ATESNE ITANH! HA 3%,30.6Y%
303Y Y q0|0R80303 RY 9 Y%.R0|AmEwT &= 19:4.30
303§ Y j0[0RB0R03 z¥ 3355 3| e & 335,63
3030 Y q0|0R80303 LS RQY.0c|wmEdT &= R9Y¥.0%
303z ¥ qo|oR0R0Y Q0% Q8% R.30| M@ 77 1883.30
303% Y q0[0380303 c3 ERARCIEE e 36840
30%0 e q0[03w0R03 ’% 360.3% [AERT &= 380.3%
30¥%9 Y q0[0380303 Y &3 R9%.¥G|ATERT A 29%.¥%
30%R e j0[0RB0R03 3’4 R90R.9 Y |smEriT &= R96R.94
30¥3 Y qo0[03w0R03 cgo 003,09 |EET &F 003,09
30yY 'y qo[o380R03 330 VR E.OR |ATERTT &= VR &. 6%
30¥Y Y q0|0380303 <CH) 9% 0. ¥ |mardi &= 3320.¥5
30Y¥& Y j0[0RB0R03 o3 ¥OR Y& |ATar & ¥0R . ¥&




30y Y q0|0380303 oYl 3€€.39 (A &= 3%&.39
30¥C ¥ qoloroR0Y Y% REEW. QYU |smEriT e REEX.9Y
30%% ¥ qo|oRBOR03 Ty EEIACH E eIzl 332,03
30Y0 Y q0|0R80303 L qoy.oY|wmErdiT &= qoy.0Y
3049 ® qo[oRoR03 €% 09,9 R |FMT & 809.93
3043 Y q0|0R80303 350 SERMECieRE ©9.3%
3043 ¥ qo|or0303 129 R0R0.CR AR &F 3031.5R
304y Y q0|0R80303 £Y3 RE9.6 3 [T & R&9.63
304y Y j0[0RB0R03 w30 330,85 |AERT A 336.6¢
304& el j0|0390303 C&T 30Y.q Y| ATERT & 30Y.9Y
304 Y q0|0380303 39 33%.09 |¥ET & 33%.09
304zg Y q0|0R80303 YL Q33.c|wmEdT &= 133.%¢%
3048 Y q0|0380303 &Y Q0&R.C3|HTaT & 0§3.53
30€0 e q0[0380303 EYY 330,03 |ATET &R 330,03
3089 Y qo|oR0303 c&l 393.€ Y| ATEET & 303.8Y
30§% Y q0[03w0R03 & %9 Y%, 3% | ATE & ¥29.3Y%
3083 Y qo[oj0R03 LY 3IYER. Y| ATERT & IYER.MG
308Y Y jo0[o0RB0R03 e 3K .09 |EART &A 33%6.09
308Y e q0[0350303 6% COR .3 |ATET &A COR.43
305§ Y q0|0R80303 & o 33%.6G|qET &7 33R.68C
308U 'y qo|or0R03 ¥9g Q3IN.QR | ATET & 13%.2%
308% Y qo0[03w0R03 co YRIU.IZ|FW & ¥I3U.R3
3088 Y qo|oR0303 C&& ¥GR.GO| AR & ¥GR.5W
300 ¥ q0|0R80303 §&C 33%.&5|mEET & 33R.8¢
3009 Y qo[o39030Y Y| Yozqq.u&|FM &= X059 9.4 &




306% Y q0|0380303 CICHy 33R.00|HTE™T &F 33%.00
3003 £ q0[{03w0R03 ¥33 RYOY 3 [AEEFE SN A Y0Y. 3§
300y Y qo|oR0303 R R Y.&% |AmERT &= R Y¥.8%
301y Y q0|0R80303 ¥R0 3359.33|wmE & 3359.33
300¢ ¥ qo0|oR0oR0Y RY¥E %3G, oG | AERT & . 35,65
300 ¥ 30|00 03 ¥3c 930G Y o|aTEaET a3 930C.4T
300G Y qo|or0303 Gl 33%.%% |AERT = 33%.%Y%
306% ¥ qo[oRBOR03 €93 & oY, Yo|amard &= ACRAL
3050 ¥ qo[o30R03 Y& 130Y¥.08 |AmERT &= 130%.0%
30%9 e q0[0380303 &% 33R. YR | ATEET &R 332.¥%
3023 Y q0|0380303 ¥99q 3YYY.CE | ATER 8 3¥4 9.5
30c3 Y q0|0R80303 CEE 3.4 3| AE &= 23543
30cY ¥ qo|oR0303 Y3 Q34U & |FERTT = EA
30Ty Y q0|0R80303 coq 33563 WA &= 335.63
30zg Y qo[oR@0303 ¥3% 3IUR.0G|ATERT A 33YR.05
3058 ¥ qo|oroR0Y Y% oY Y o|AmEmdT &= Loy Y8
30zt Y j0[0RB0R03 343 3¥9Q Y.Co | AT 8 3¥9Y%.55
30z% Y jo0[o0RB0R03 ¥4 q Q¥%%.% & |smEamiT &= 1¥%%.%¢
30%0 Y q0[03w0R03 &Y 33%. 35| AERT w1 33%.R%
30%9 Y q0[0380303 & &0 Y 0 .00 |ATa™T &A 40%.00
30%3 Y q10[0380303 coR 33Y.SC|AmEdT &= 33VY.65
30%3 ¥ q0|0R80303 Y §33.9% |sMaT & £33.9%
30%Y Y j0[0RB0R03 cqo Y 30.c0|AEEE A Y 31.50
30’y ¥ 30|0RB0R03 oz qWo.3 Y |smard &= q00.3Y
30%% ¥ qo|oR0R0Y R 200§ .CY[FHM & 00€.5Y




300 ¥ 0|00 03 w09 39%.8Y [smarde &= 39%.6Y%
30%%g ¥ q0|0RG0R0Y ¥ gq Y.0Y |TEuHE SHANTHT &3 cqY¥.0Y¥
30%% Y q0|0380303 B R009.4R [FW & R009.4%
3400 ¥ q0[0350303 Clok 96%.OR |AERT &= 18%.0%
3909 ¥ q0|0380303 903 Q&R.% | AMERT &7 18%.2%
3q0% ¥ q0|0R80303 oY q90.0Y [AmEdT &= q90.0Y
3903 Y qo|or0303 woy, Q93.6Y @R &= q3.6Y
3q0¥% Y q0[0380303 Ul QoY .R |AmEriT &= q0LY.R9
390Y Y j0[0RB0R03 S 3¥0, Y |AERT &= 3¥0.6Y%
3q0% ¥ q0[0390303 og q90.9 0 (AT &= q90.90
3900 ¥ q0|0380303 ol Q6.2 3 |AMERT &7 18%.23
340z ¥ q0[0350303 ¥ 99 Y. YY |SmEri = 99¥.¥4
390% Y qo|oR0303 30y ¥I3IRUG AR = ¥I3IR.UQ
3990 e q0[0380303 U4 Y239 0|AmEd &= 4c3.90
3999 el q0|0380303 4 ¥3Y.00|amard & ¥3Y¥.00
399% ¥ q0|03W0R0Y XY RN EE R EE LY L.3e
3993 ¥ q0[0380303 zog, cLL. ¥ |HATERT & SCCR%
299¥ ¥ q0|0R80303 &5C £€99.9 & |QEANE STANTHT & £19.9%
399% ¥ q0[0350303 CIels 3R.%E [QEWHE ITARTHT & 3RRE
399% Y q0|0R80303 ¥30 & Y.q ¥|amaET & ELY.q Y
39906 ¥ qo[oj0R03 ¥Y YY3.WE | mERT e LYY G
EARLS ¥ qo|oRoR0Y 3| woyou.so[FW &= Y 9¥01, 90
2994 Y q0|0R80303 LY 33%.09 [T &= 33%.09
3930 ¥ q0|0R80303 §20 2,04 | ATETE & RO.MT
299 Y Q00390303 303 QRRC.0Y|AEHT & 1RRC.0Y¥




39R% ¥ qo|oRBOR03 &9 R 3.63| AT &= R3.6%
393 Y q0[{03w0R03 oY, ¥3Y.00 @R &= ¥3¥.00
39RY ¥ qo|oRBOR03 &R RY.C3|ATERT & RY.53
394 ¥ q0[0350303 cog Y 30.50 |AEE &= Y30.c0
ER S ¥ q0|0380303 §R3 2 9.0\ | ATETET & 29.0%
3930 Y q0|0R80303 3R 330%.R% @ &F 330%.%%
39 ¥ j0[0RB0R03 &Y 23.93|ameariT &= ?3.93
3% ¥ q0|0R80303 §_Y 2.0, Y |ATETET & 20.%Y%
3930 ¥ j0[0RB0R03 &2§ GR.00|ATERIT & ©%.00
3939 Y qo0[oRBOR03 &L R Y.09 |amariT &= 2 ¥.09
393 ¥ q0|0380303 AT 93Y.33 |smardiT &= 93¥.33
3933 Y q0[03w0R03 ¥3% & YT, 3| AEET & £¥5.3
393Y ¥ qo|oRBoR03 &% 00.89 |ATE=E &= 100.29
3934 e q0|0R80303 RTY e EEE R 3IX36.¥R
393% Y j0[0RB0R03 &% Q0. YO |AERT &= 405,40
ESEIC ¥ q0[0380303 800 QR0.5R [AEE &= 130.2%
393z ¥ qo|or0R03 AT WE.OY | TR & Wg.0Y¥
393% X j0|030303 AL ©Y.03 | ATERIT & ©¥.03
39y0 ¥ j0[0RB0R03 col Y 3.0 |ATErT & Y 31.50
39¥9 Y j0[0RB0R03 &%9 Y009, 0|ATa™T &= 401,20
39¥R ¥ j0[0RB0R03 &G0 FRNEEEREE CERTC
39¥3 X j0|030303 AT ¥R.¥q |smardie &= ¥2.¥9
ERRRY Y q0[0350303 ¥¥3 3 &5 (A &= 398.59
39¥Y% ¥ qo0[030R03 &G& &R AR &= §R.3R
39¥& Y qo|oRW0303 29 L. Y & |amaritT &= L. Y &




ERRC ¥ qo|oR0303 &5Y £2.% % [FmERT &= §2.2 %
39¥% ¥ jo0[oRB0R03 A %W ¥ | ATETdT &= BR.YY
39¥% £l jq0[0RB0R03 Lo 309 &.cY |AmERT &= R094.5Y
39%0 Y qo|oR0303 &5y WE. oG |TERT & Vg. 95
3949 ¥ qo|oR0303 £53 CR.Q Y |amEriT &= c3.9%
394R e j0[0RB0R03 o3y %R ¥R |ATEE & B2 3.¥%
3943 Y qo|or0303 &R 9. 3Y|AmeariT & R1.3Y
ERERY Y q0|0R80303 &4 93R.3Y |[smardiT &= 93R.3%
394Y% ¥ j0[0RB0R03 W& YWY YO |ATERIT & ¥Y.K0
ERFEA e q0[0380303 CES Q09 Y.c& |ATEET & 109%.5%
EREC ¥ qo|oroR0Y Y MCEPRCIE el el ¥o3Y. Y
3945 £l jo0[o0RB0R03 &RY R6.00|ATEriT & R1.00
394% Y qo[o30R03 Y & 3.0 [ATErT & & 3.0
39€0 e q0[0380303 c3l RS EcE e Y2 R.UE
3989 Y q0|0380303 &3 Yq.cq |wmardT e £q.59
39&R ¥ q0|0R80303 &9 £53.R 9| @A & §53.R0
3963 Y q0|0R80303 &Y Y33.8% |EET &A 133.2%
398Y Y jo0[o0RB0R03 A AR c il e YEW.&R
39864 Y qo[ojw0303 IS R03.30|AERT &F 303.R0
EREA ¥ q0[0380303 CIC 33C.63|wmaT & 335.63
396 ¥ q0[03B0303 &R 2.0, Y QWS IJTARTHI & 0.¥%
39&% ¥ j0[0RB0R03 N 163,03 |AmEET &= 193.03
39&% £ q0[03w0R03 Yoy RE3.C|AERNT A R&3.%C
3quo X j0|0380303 &9% 3¥R.9 ¥ [ArEaHE SRR & 3I¥R.9Y
ERICE Y q0|0R80303 49 QUYL QR |smEmiT &= U899




3963 ¥ q0|0RE0R03 CER=~ qW3.00 AT &7 q3.00
ERICE! Y q0|0R80303 349 3R59.c3|wmET B 3%59.53
30y £l jq0[0RB0R03 AN Y 33.00|TERT & ¥33.00
39y ¥ q0|0R80303 894 3R oY [T & 33Y.0%
3968 Y qo|oR0303 w30 QYR 3. Y |mErT &= 4R3.¥0
390 ¥ qoloroR0Y 3ER LT, c|AEEE & &LT.RT
3906g ¥ j0[0RB0R03 &9 & 395,39 |FERT = 395.R9
ERICH Y q0|0R80303 o3y Y 0T Ru|AEH &= 1 0Z.R1
39zo Y j0[0RB0R03 34 ¥3I3.R0| AR & ¥3IRI.RG
3959 e q0[03w0R03 XY Q0% Y.0& | mamiT &= 10%Y%.0%
39z Y j0[0RB0R03 3¥% R0Y.R Y [WTENE ITANTH A 0Y¥.RY
39c3 £l jo0[o0RB0R03 EER YT R Y |ATERIT & YoH.RY
39zY e qo0[o0RB0R03 YT q0E. Yo |ATERT & q0B8.¥
ER -t Y q0[03w0R03 ULt & T, 00 |ATEET & §Lg.00
39z% ¥ qo|oR0303 ENES 99,9 R [ESHE TR A 290.9%
3950 ¥ qo[oj80R03 ERYC YY.q & |FTE® STARTHRT & Y999
39cg ¥ q0[0350303 Q5% 309Y.9&[F & 369%.9
ERL ® q0|0R0303 LY A EaL el L.
3920 e q0[0350303 Y3z 3R3.6R|EAME STANHT & 3R3.6%
2929 ¥ qoloroR0Y e RER.IZ|FM &= RE&R.]3
29%R ¥ q0|0R80303 43R 9%90.08 | & 1%80.0%
3983 ¥ qoloroR0Y 3¥0 Q&R.UE |mardiT &= QER.4&
39%Y Y j0[0RB0R03 XYY 999 5.30| @R a7 1995.30
39:Y% E q0[0380303 XYY & 30R.33|ATEET & 30R.33
39%%§ Y j0[0RB0R03 3¥Y Q& 3.8 Y [AEHE TR &F 1&3.84




39% ¥ q0[0RB0R03 3YE 320,89 |ATESHES STANH &3 3%0.89
ERISS Y q0|0R80303 4Tl R90R .00 [HTETdT &= 903,00
39%% £l q0|0380303 TEY YR R | ATa & YOR.%
300 Y q0|0R80303 30 3%50.8Y [FW & 3%60.9Y%
3R09 Y q0[03B0303 zqR UIRLIY|FO & U3R.3Y
3R0% Y q0|0R80303 c3§ 1999.00|s@E™T &3 1999.00
3R03 Y qo[ojw0R03 ¥YY 3659 Y|AERT = IRE.QY
3R0Y¥ Y q0|0380303 CICE 33C.63(FW & 335,63
3304 ¥ qo|o30303 EPLC LYYR.OY [T & 9¥Y%.0%
3R0% ¥ qo[o30R0Y R0 19%0.55 |FT &7 19%0.5%
3300 ¥ q0[o30R0Y ETR ©OEq ©. &Y |ATaTET &= BEq6.&%
ER{el= ¥ q0|0R80303 3R €3R.09 | &= £3%.09
3R0%, % qo[oj0R03 ¥OR QLR Y [P & TUR0.¥Y
3R40 Y qo0|0R0303 ¥YY 3Y YU G| ATEET EF A~
3299 Y qo|0390303 “43% Q&R 3.3% | & 1823.3%
3R9% Y qo0|0390R03 ¥93 1538.90(FM &7 1z38.90
3293 ¥ q0|0R80303 9 QR&.R3 |emErdT &= qR&.]3
3R9Y ¥ qo|o03B0R0Y 9 RU .Y [T E IRY .49
R Y q10[0380303 Y fLu.Lo(F & &£ L.K 0
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¥§O00 3 q O | AT wee_q% ¥33 3039.65|FM &7 2039.9%
¥ 09 3 q O | AT Tee_q% ¥3% q¥3IR.¥C|AERT & 1¥3R.¥5
¥EOR 3 q o [WremrEd TeE_q Y% ¥R Q&% 3.9 |smEmiT &= 1823.94
¥§03 3 q O | AT Tele_q% ¥ 3356 3| e & 335,63
¥&OY 3 q O | AT wee_q% ¥3 YUY RY | mEriT e ¥UR.RY
¥ §OY 3 q O | AT Tee_q% ¥3Y CYT. TR | AT &R TYT.5%
¥E&O& 3 q O | AT wee_q% ¥33 SEREIECiCE e TY3.UR
¥ &0 3 q O | AT Tele_q% ¥3% 3YY.00|ATERT & 3¥%.00
¥§0g 3 q O | AT wee_q% ¥3% q30R.8 Y@ &= 930R.8Y
¥§0% 3 q o | WAl TAE_q Y ¥3L 9350.00 | ATERT & 4350.00
¥&§90 3 q O | AT wee_q% ¥¥q 9099.% 8|mERT &= 1099.29
¥&99 3 q O | AT Tele_q% ¥Y0 9099.% o|mERTT &= 1099.20
¥EIR 3 q o [ATeTET wele_q Y 1% YooY, o) |[FT &= ECIR
¥&93 3 q o [wrerEd we_qY% Y YOT. 35 |AMERT &= Y0%5.35
YEQY 3 q o | AT TeeE_qY YR Y09 0% [T &= 409.%
¥E9% 3 q o [wremEdt e _Y ERLC BLER.q9 [FMT & BLER.99
¥E9& 3 q o | AT TE_Y L& Y& TE.RG|HM & 485525
¥&qe 3 q o | AT TAE_%, CEi S §&C3.UC|FM &= §EC3.4T
¥&9% 3 q o [wremEd we_% §5q| q433%.00(FW &F 1433%.90
YE9% 3 q o [wremEdt e _Y RECT IYLCHR (BT & IYUTYR
¥&R0 3 q o |HreTEdl e _Y 143 ELTY MY [FT & ELTY.MY
¥&RY 3 q o [ATeTET wele_Y, EX UYY.CY | e & YU Y.29




YE&RR 3 q o | AT TAE_% 4]0 4339.03 (W & 4339.0%
¥ER3 3 q o [wremEdr we_% LYY £395.30|FW &= §395.30
YERY 3 q o [ATeTET e_Y, TEY 330Y.C0|FHM & 330Y.50
¥ERY 3 q O | AT we_% CEle Y Y0.% C[TMEuME ITANTHT &3 4¥0.25
YERE 3 9 o [ATeTEdt wele_Y CES §239.c3[FM &= §R29.53
¥ERL 3 q o [AreTEdl e _Y, 3 &Y. S|P &= §9LE.ET
¥&RT 3 q O | AT Tele_%, 3c IRR0.99 |AERT &A 3RR0.69
¥E&RQ 3 q O [ATETET wele_Y, c3g JURR.GY | AmErT a1 YRR.GY
¥&30 3 q O | AT Tele_%, 3¥3 3YRY.93 AR & 3¥R9.03
¥&39 3 q O [ATETET wele_Y, A Q&R9.0|A@EET &F 1&R9.%0
¥E3IR 3 q o [wreTEd TE_% 1906 3355 3| e & 335.63
¥&33 3 q o [AreTEdl e _Y, 33¥| J9RLUUG|FT & 1qRLY.UT
YE3Y 3 9 o [ATETEdr wele_Y qoug R995.%8 [FW & 2995.8 &
Y& 3Y 3 q O | AT we_% 1089 RERTY|FM & RE&II.RY
¥E3§ 3 q o |ATATEdT TIT_Y EEE 30¥9.%& | & 30%9.%%
¥&30 3 q O [ATETET wele_Y, 0 3 3. 00| AEE &= 343,00
¥&3% 3 q o [wreTEd Te_% 9 & W3Y.0C (@R & v3%.0%
¥&3% 3 q O |ATATET TIT_Y, ¥R Q34 3.5 & 1343.45
¥EYO 3 q o [wreTEd Te_% ©Y¥q 99 ¥%.9 0 |mEaRiT &= 19¥%.90
YEYY 3 q o | Al TE_Y 00 9900.0|FHM &7 990,69
YEXYR 3 q o | AT TAE_%, EE YR39.8c[FW &= YR39.25
YEY3 3 O | AT TAE_Y, 4L YU R, Y9|HFT & ¥4 R. ¥
¥EYY 3 q o [wraTEd Te_% & %9 3YRE.qo|AmERT A 3¥RT.q40
¥EYY 3 q o [wreTEdt we_% 0% 3O Y |EART & ECEERE
¥EYE 3 q o [wreTEdr Te_% CERY 393.0% [AmERTT = 363.6%




YEY 3 q o [wreTEd T e_% 03¢ 3049.99 [ &= 30%9.69
YEYT 3 q o [wreerdt we_Y RT3 EY9.UT|FM & EY9.45
YEYR 3 q o [wreTEd Tele_Y, 39Q ¥&9.58 |FW &= ¥&q.C&
¥EY0 3 q O | AT we_% 190y 3309.9 S|mERTT &= 2309.90
¥EY] 3 q O | AT Tele_%, o ¥O&.& 3 [Ese ITANTH A ¥0&.&3
YEUR 3 q O | AT we_% LY ¥39.0Y | @R = ¥39.0Y
YEY3 3 q O | AT Tele_%, &3 IR 3| AT & CEFREE
YERY 3 q O [ATETET wele_Y, CEE 33Y.3Y | e am 339¥.3Y%
YELY 3 9 o [ATeTEdt wele_Y 4 Y0 2 §30,0%|FHM & 3 &30.0%
YEY & 3 q o | AT TE_Y, BIE C0C.q & |ATEET & c0z.9%
YEY S 3 q O | AT Tete_%, o YRC. Yo |TEeHE SNSRI &HF Y35.¥\
YEYT 3 q O [ATETET wele_Y, §OY YYR & YR PO & YUY E. YR
YEYR 3 q O | AT Tete_%, oY Q& ¥R.&R|AmERT &= EYR.ER
Y& &0 3 q o [wreTEdt Tele_%, 0 %99.5R |smEmia &= 1999.5%
¥E&9 3 q O | AT Tete_%, oY RRCY.0R |AERT = 335Y.0%
YEER 3 q o [wreTEdt Tele_%, Yo Q& &R.&& | AmEamT &= EER.65
¥E&3 3 q o [wreTEd Te_% c¥e R 9%, TR | ATEE & ] Y.5]
¥ERY 3 q o [wremEd we_% 0 QU ¥Y. 39 |[smEmiT &= 9 ¥Y.39
YEEY 3 q o [wreTEd Te_% c&O £30.9c|mER &= §30.9¢
YEE&& 3 q o | AT TE_Y 49§ c095.35|FM &= £04%.3%
YEE 3 q o | AT TAe_Y, & Y0 Y¥qR.YE[F & ¥Y¥R.¥&
¥&&T 3 q o |HATEd TAe_Y, 343 3303 [FW &= 330¥%.2Y
YEER 3 q 0 [ATeTTEdT TeTE_Y, Ty 043G 35 |FM & J045.3%
¥&o 3 q o | AT TE_Y cloy 2R ER|FT & 12%8.63
PEACK] 3 q o [wreTEdr Te_% YR 0%, &% |[F & 0¥, &Y




PAACE 3 q o | AT TAE_% 343 199 5. ¥5|FH0 &= 1995.¥5
PAACE! 3 q o |HATET TAe_Y, LY 1¥30.49 |[FM & 1¥30.49
YELY 3 q o [ATeTET e_Y, YER WYY .Y O|FM & LYY ’. 40
YEBY 3 q o [wreerdt we_4 &Y QO3R.ER|FM & 3%.6%
YEBE 3 q o | AT TE_Y, BRY YRYY.C3(HM & YRYY.53
¥ELL 3 q o [AreTEdl e _Y, cEY Q9% 3.5 | mEmT &= EICEERAL
YELT 3 q o [ATeTET woe_Y, q009 R0%3. LY |AEET &7 R0¥3.Y
YEL] 3 q o |HATEd TAe_Y, S YTT. 38 |FM & Y5T.3%
¥&TO 3 q o | AT TAE_% 309 3YYL.0L|FHM & 3YYY.0
¥&TY 3 q o |HATEd TAe_Y, 303 33X 3P & 33%%.3%
YE&TR 3 q o | AR TAE_Y, Y 332063 (B & 33%0.63
Y&T3 3 q o | AT TE_%, c29 Y52 3.50|FM & Y&€%3.80
YETY 3 q o | AT TAE_Y, TRy Y30U.85 | & Y304 .55
YETY 3 O | AT TAE_Y, 430 3¥0q.4 3 | &= 3¥09.43
YETE 3 q o | AR TE_Y ce3 44 ¥0.30(FM & 44 ¥0.30
Y&ETL 3 q o [wreerdt we_Y Y3c YT R|FM & EPRE
¥&TT 3 q o [ATeTET wele_Y, 36y 3Y9 3. Y |ATEEE & 3L9R.Y
¥&TQ 3 q o [AreTEdl e _Y CER Q&R Y.R 3| e &= 15RY.R3
¥&%0 3 q o [AreTEd we_Y 43|  1zoxq.Ro|FM &= 1z049.30
¥&R9 3 q o [wremerdt we_Y EEY YT35.30|FM & 4535.30
¥ER]R 3 q o [ATeTET wele_Y, 50 q935.55|qmEmT #47 1¢35.55
¥ER3 3 q o [wremEdt w@e_Y A3 59 ¥0.%9 [HT & 89¥0.29
¥ERY 3 q o | AT TAE_%, CICHy 33%.09 [sEE &= 33%.09
¥E]Y 3 q o [ATeTEdT e_Y, T YRR | ATERT & 3UR.RR
¥ERE 3 q O | AR TE_Y, q03Y% 20T, % [AEHE &= 2,05,




¥ER 3 q o [wreTEd T e_% 103y & ¥R.& Y |HTESNE STRTHT &7 EYR.EY
Y&RT 3 q o | AT TAE_% q0zg QLR Y. 5| A & 14R¥.95
¥E§RQ 3 q o [wreTEd we_% qocy 33| AEET & 33%.%%
¥ 500 3 q o | AT TE_Y, qozy L. Ty |mEr & &LT.oY
¥80q 3 q O | AT Tele_%, 199 R0, Y G| ATEET & R90.¥g
Y903 3 q o [wreTEd Tee_Y, 198 QYU I3.UE|ATEAET & RS
¥\803 3 q O | AT Tele_%, cY3 q¥Y.OR |A@ERT &= q¥Y®.0%
Yoy 3 q o [wraTEd Tee_%, oYY QY3384 |smEmiT &= 1433.64
Y80y 3 q O | AT Tele_%, o3 YRY.& | AT & YIU.85
¥0% 3 q O [ATETET wele_Y, &3 ¥R U9 B & ¥%,96.49
Y80 3 q O | AT Tete_%, e 939.0R |AERIT &= v39.0%
Yoz 3 q o [wreTEdt Tele_%, czy EEEREIEE SIEEE] 33R.33
¥\90% 3 q O | AT Tete_%, R 3 3YY. Y | AERTT & Y. LY
¥\8q0 3 q O | ATTEd wle_%, oy 150w, o3 [mE &= 5L0.03
¥ 99 3 q O | AT Tete_%, coR Y&, 3% | AERTT &= ¥EY.3%
¥R 3 q O [ATETET wele_Y, oY R IWE. YR | ATEE & INE.YR
Y893 3 q o [ATeTET wele_Y, €03 SRS E o il el 1e306.55
Y89y 3 q O [ATETET wele_Y, 1z Y93&.%0(FW & 493&.40
MCET 3 q O | AT TE_Y TE& R55%.%9 [F & 355%.%9
¥ q& 3 q O | AT wee_% &qR 3YRL.3 AR & 3YR6.3%
Y89 3 q O | AT TE_Y £99 04 Y. o3 |HmEriT & J0Y%.63
X5 3 q O | AT wee_% 320 Y08, Y& |arEsiFe ITANTH! & Y0.¥T
%999 3 q O | AT TeAE_Y, Lo 3355, 9R | &= 3352,
¥8R0 3 q o [wreTEd TelE_%, 033 1800, & & | mEriT &= 1900.5%
¥ 9 3 q o [wreTEdr Te_% CENY Q& 9%.%0|AERT &= 1&0&.20




Y933 3 q o [wreTEd T e_% 199 3YQY.&O|AERT & 3YL.&0
¥R 3 3 q O | ATATET TlE_Y LY & 5eR. Y| AET & 5LR.0Y
PCER 3 q o [wreTEd we_% EEEY Q&Y Y.% S| AmERT = E¥Y.%
MCERY 3 q O | AT we_% EEE q©0&. 3y |mEaRT &= 180&.3Y
MR 3 q o | AT TE_Y, ey £106.3% | &= §908.3%
¥R 3 q O | ATTE wle_%, 419 9 & 8%, o |mEariT &= 1&LY.v0
¥Rg 3 q O | HTATET TeE_Y, ooy CRC.R3|AERT & c3Z.33
MCES 3 q O | AT we_% TR & qELE.Q Y |mERT o= 164 &.9Y
¥930 3 q O | HTATEdT TeAE_Y, Gl R9%9.&0|umEri a= Rq49.80
X039 3 q O | AT we_% 38Y ¥qG.0R |ATa™E &R ¥45.0%
Y933 3 q o | AR TE_Y R &Y 1ETY.Q3 (M & 185¥.8%
¥933 3 q o | AT TE_Y Y3 33 O.RG|AERE &= 3346.}%
MUERY 3 q o | AT TAE_Y, %0 IYRR.IE (B & 3IYRR.3E
PMCER] 3 q o [wrerEd we_% 363 I3IRRYY|FM & 3’R.YY
YO3§ 3 q o | AR TE_Y 3ER QRYELY B & IRYE.LY
Y930 3 q O [ATETET wele_Y, ¥ q QROR.UY [FW & 10344
Y83z 3 q o [ATeTET wele_Y, YR 1999.3&|F0 &7 9999.3%
¥93% 3 O | AT TAE_Y, ¥z YLR3.LY[FT & TEER
¥9Yo 3 q o | AT TAe_Y, 3R 30U O3 (FW & ENTPUCE:
YWY q 3 q O | AT wee_% c3% 3YYq. Y |mEr = 3YY¥9.24
MCNE 3 q o [wreTEd Te_% &TY & YW S| AERT & &YY.T9
MOT! 3 q O | AT wee_% &0 EECRTIE Eicie el 310, ¥Y
MO 3 q o [wraTEd Te_% R Y0 £O3.UY [smari & ERE
XYY 3 q o [ATeTEdT e_Y, R YYR.&C|FT &A ¥¥%.85
YOy 3 q o | AT TE_Y, 3% Y. 5| AEE & jeY.95




MENC 3 q o [wreTEd T e_% Q&R 3ER.UQ AR A 3ER.4Q
¥9Yo 3 q o | AT TE_Y, REY 39c.0R|FM &= 395.0%
¥Y? 3 q O | AT wee_%, WY & 8. Yo |amard &= AR
¥8¥ 0 3 q O [ATETET wele_Y, RE&3 3%3.6R | @A & 393.6%
MCER 3 q o [wreTEd Tee_% Y Q0% .} & |AmERT &= 180%.%5
PMCPE 3 q O | AT we_% 103 IEMEME cicielEe) 1¥L.9¥
MCE: 3 q O | AT Tele_%, WOl 3IRQR.OR AR & ERERSCE
¥Ry 3 q o [AreTEdl e _Y, c90 R9&3.¥0(FM & R9€3.¥0
MEEEY 3 q O | HTATEdT TeAE_Y, 5o 9099.0R |ATERT & 10994.0%
PMCEE 3 q O | AT we_% CI43 LY. S G| AERT 384.8C
¥BY s 3 q o | WAl T Y wco 35,00 | @ &7 35,01
¥ous 3 q o [wreTEdt Tele_%, 9% 33RQE[FO & 33%R.9%
MCERS 3 q O | AT Tete_%, CICIS CYE.QR|ATET & TYE.QR
¥9g0 3 q o [AreTEdl e _Y, c99q 3%,09.95|FW &7 3%09.85
Y99 3 q o[ AT TE_Y TR QR EU. LT [FT & 12 &4.45
Y& 3 q o | ATl TAE_Y, o 0.00|FHM &F 0.00
MCEE 3 q O | AT TE_Y ¥&| 533304 (FW &= 15333.0Y
MY 3 O | AT TAE_Y, 3% 3%9.c3|FM &= 2%9.53
YOEY 3 q o [wreerdt w@e_Y 4¥q YIR.Y [ & ¥93.94
YOEg 3 q o [AreTEdl e_Y, LY 3309.99|FW &F R309%.94¢
YOgL 3 q o [wremEdt e _Y 3RY 1€40.3Y% [T & 9€%0.3%
YO&T 3 q o [wremEdr wE_Y 3y0 13cc.cY|FM & 13c5.0Y
Y& 3 q o [wremEdt e _Y 332 qoyzL.q&[FW & 0%¥59.9%
Y880 3 q O | AT wee_% 03¢ 33U 3| AT & 33543
Y89 3 q o [wreTEdr Te_% Q03 R8q0.00(FHM &= R890.00




UL 3 q o | AT TAE_% qoby ¥ c.50(FM &= Y 5.§0
MCICE! 3 q o [wraTEd Te_%, 190% Q&30.40|FM & 1&30.40
Yoy 3 q o [wreTEd we_% 1909 1&39%.90|FM &= 1639.90
MCICHY 3 q o [wreTEd Te_Y 19Y ECERSIElE SRk 36R.¥9
PCICIA 3 q O | HTeTE Te_Y 1393 33C.53|AERT fF 33C.63
N 3 q o [ATeTTE weie_Y 50 q & 90, [ArEwFE JuAETET A 1&90.3%
¥z 3 q o [wreTEd we_% R 53 QY 9% Y& [FTEsFe STARTHRT &7 QUBE.Y &
¥ 3 q O |HTATET TE_Y, q03%g & 95, b |wmEriT &= ATt
Y950 3 q o | AT TE_Y, 13329 Y039 [ & ¥03%.99
¥ q 3 O | AT TAE_Y qo4le 1YY Y [F & 12¥Y.¥Y
¥ec 3 q o | AR TE_Y q0&0 Q9 Y.00|FM &= 6EY.08
Y53 3 q o [wreTEdt Tele_%, q08Y R03R Y 3|umEwiT &= 03%.43
YTy 3 q O | HTATEdT TeAE_Y, q0&R 909 &.00 | ATART & q09&.00
¥z Y 3 q o [wreTEdt Tele_%, 063 Q09 &.00|ATE™T & 109&.00
¥z g 3 q o [wreTEd TE_% q0&& 99 ¥¥.%0| @R &= 19 ¥Y¥.20
¥z 3 q o [wreTEdt Tele_%, qo&Y% 33%.93 | ATEET A 33%.03
Yozo 3 q o [wremEdt e _Y 193¢ 492,03 |FM & 19%.93
NEE 3 q 0| AR TE_Y, 9934 49%.90 (M &= 49%.90
¥9%.0 3 q o [ATeTET wele_Y, 19&0 R33.¥% @R = IR3.¥%
Y829 3 O | AT TAE_Y, oY §R0Y.0¥|FM &= §R0Y.0¥
¥R 3 q o [wreTEd Te_% 059 £LC.R Y [smEri & £LT.q Y
¥R3 3 q O | AT wee_% q05R Y 3R.3Y|ATESIHE STANTHT & 433.3Y%
MY 3 q o | AT TAE_%, qoc3 Q55 R.& Y |amEariT & 158,84
Y8’y 3 q o [wremEd ey 1099 Q0948 |AEE & 1094.5%
¥R § 3 q o [wreTEdr Te_% q0%0 329 3.4R |smEmT &= 2293.4%




¥R 3 q o [wreTEd T e_% qot? Q3% 3.00|AERT &= 13%3.00
¥9’c 3 q o [wraTEd Te_%, 093 33,53 |AEEE A 335.63
¥R 3 q o [wreTEd we_% oY 3R09.69 |EART &= 3369.59
X500 3 q O | AT we_% 1903 ©O¥Y.9R (A &= TR
¥509 3 q O | HTeTE Te_Y 1904 33C.53|AERT fF 33C.63
¥Z 0% 3 q O [ATETET wele_Y, 190% QoY Y. &0 |ATaET & 6% ¥.§0
¥Z03 3 q o [wreTEd we_% 1963 35, 30|AENNE ITANH! HA 335,30
¥z oY 3 q o [wraTEd Tee_%, 192§ Q09 &.00|ATEHT &F 109€.00
¥z oY 3 q o [ATeTET woe_Y, 1925 33%9.9&(FW & 33%9.9¢%
YT Og 3 q o | AT TE_Y, 23 335.09 [sEE &= 335.09
Y50l 3 q o [wreTEd TE_% 1330 33C.53|AERT a1 335.63
X0t 3 q o | ATl TelE_Y 1905 %5, YU |aTaET &= q%5.¥Y%
¥z 0% 3 q o | AT TE_Y, qoog 32U &= IR’.MU3
¥z q0 3 O | AT TAE_Y, qo0% &Ll 3T |FT & §LL.RT
¥z 99 3 q o | AT TAE_Y, RTY 3539 6|FW &= 35396
Y59 3 q O [ATETET wele_Y, 199 & 1%99.8& [P &7 91%99.€%
¥z q3 3 q o | AT TAe_Y, 1994 EBL.RE [P &= £LL.RE
YTy 3 q o | AT TE_Y, ST 9%,3.%3 |smardiT &= 123.43
T Y, 3 q o [wreTEd Te_% cq& QUYL 3Y | STERTT &= Y%.3Y
¥T 95 3 q O | HTATET TelE_Y, F9%R 3Y¥9.00| @ &F 3¥9.0L
X5l 3 q o | AT TAE_%, AEEE 304,000 |ATERT 77 304000
¥Tqg 3 q O | AT wee_% 1Y 300, 0% |FET &F 300,03
¥ 9% 3 q o | AT TAE_%, 199y 30 W Y| ATEET A 3¥0. MY
YT 30 3 q o [wreTEdt we_% JCl4 QY338 [smEriT &= 10¥3.3%
¥&R9 3 q o | AT TAE_%, 1949 33663 [T &= 336.63




Mk 3 q o [wreTEd T e_% 1964 R¥39.33|9mERT &= ¥39.33
¥T33 3 q O | ATETE Tete_%, 198&Y 990,00 @RI &= 380,00
¥oRY 3 q o [wreTEd we_% 1980 290.¥R|ATERT & ?q0.¥%
¥T3Y 3 q o [wreTEd Te_Y 19%% Q908 R | ATEET & 980.%3
¥R & 3 q o [wreTEd Tee_% 190 559,90 [ArEsE ITANTHT &A c59.90
YT 3 q o |HATEd TAe_Y, 99e3 EBL.RE [P &= £LL.RE
¥GRG 3 q o | ATl TE_Y 19 Y% 0. Ty |FT & J0LY.TY
X5 3 q O | HTATET TlE_Y, 1905 Y 9. YG|ATar & Y490.¥5
X530 3 q O | HTATEdT TeAE_Y, 1900 Y q©.00 |smard &= ¥.9.00
¥T39 3 q O | AT we_% 99 6§ Y Q.00 |ATE™T &R 498.00
Mk 3 q o [wreTEd TE_% 1950 33C.53|AERT a1 335.63
Y533 3 q o | AT Ta_Y 1962 335,63 WA &= 335.63
¥T3Y 3 q o [wreTEd Te_% 1959 33,04 [AERTT = 330.0%
YT 3% 3 q o [ATeTET wele_Y 19z5 q030.00|FHW &7 q0R0.00
¥T3g 3 q o [wreTEd TE_% 130% 393,50 |qrENFE ITANH! & 313.50
Y530 3 q o [ATeTET wele_Y 1r90 09 c.03 @™ &7 109c.03
¥G3g 3 q o [wreTEd Te_% 13919 Y 9.} Y |ATEE & W¥9q.2%
¥T3% 3 q O | HTATET TelE_Y, 195% W3IY LY |ATERT & CEPFRS|
¥TY0 3 q o [wreTEd Te_% 1929 QY 3.Y | HATERT & Y31
¥&Yq 3 q o [HTeTEdr weie_Y 19%0 QY 3. Y|t & FERLC
¥T¥R 3 q o [wreTEd Te_% 1923 330,83 |AmERT a1 33%.%3
¥TY3 3 q O | HTATET TelE_Y, 993 ¥TY.co | ax ¥TY¥.50
¥TYY 3 q o | AT TAE_%, 9% 3000 33|¥MERT &7 3000.33
YTy 3 q o [wreTEdt we_% 933  q00YR.GY [AEWHE TR HF q00Y¥R.Y
¥TYE 3 q O | ATEATE Tete_%, 1R0% Q3% C3(FT & 134%.53




e 3 q O | AT Tele_%, 130% & 8. 00 |smardT &= €9.00
¥oY© 3 q O | AT we_% 1308 WY'3.00 |AERNT &= v¥3.00
¥TYR 3 q o | AT TAE_% 1394 1¥30.2% | & 1¥30.2%
YT o 3 q O [ATETET wele_Y, 939 33C.53|AEEE A 335.63
¥GHUq 3 q 0 [Hrerdr wTE_Y ¥ ¥q %10 (FM &= qRY.%0
¥TUR 3 q o [AreTEdl e _Y, EES 3IC.Y6(FW &= R3T.¥8
¥TY3 3 q O | AT Te_Y, EES 33 .MY B &= 33R.4Y%
8% 3 q o | AT TAE_% 3% R0Y.CR|FM &= J04.5R
YT Y 3 q oA TE_Y EES R0%.§6|FM & R0%.8
YTY & 3 q o [ATeTTE weie_Y EYSS 182.99 |FM &= 1€2.99
M 3 q o [ATeTET woe_Y, 4 ¥q 1&R.50|FM &= 1&%.80
YT S 3 q o | AT TE_%, Y Y9 18R.C8 |FM &= 16%.58
M2 3 q o | AT TAE_Y, 1 ¥4 1&R.9¥[FM &= 16R.9%
¥G &0 3 q o | AT TE_%, Y Y9 R9Y.CE |FM &= Rq4.58
¥T &9 3 q o | AR TAE_Y, Y ¥4 IRR.I3FM &= 3RR.33
¥TER 3 q O | AT we_% Y ¥9 339.5(FW &= 239.2%
¥TE3 & q0|0R803C3 R Y3 YUY [FEHE STINTRT S TEE
YTEY 3 q o [wremEd we_% 134 YU &T. Y [ArEsHe SRR A PEEACNY
YT EY ¥ q0|03909&3 R%R%%% C3EY.RG[FM & C38Y.RC
YT & ¥ q0|03909&3 R]R%% IIYLLE[FW & IV
YT EL ¥ 10[0360943 q &GRR.& YT, @ren, 9, RmeR &= §TRR.EY
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